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treated as case of unfair means.

SECTION A (3x2=6)
Q1. When an interrupt occurs, an operating system
(A) ignores the interrupt

process

(C) always resumes execution of interrupted process aﬁer processmg the interrupt

(D) may change the state of interrupted process to. ‘blocked’and schedule another process

Choose the correct choice and provide explananon 3
Q2. Using Amdahl’s law, calculate the speedup g’afn of an apphcatlon that has 60 percent

parallel component for (a) two processing cores and (b) four processing cores. P T
Q3. In the following process state transition diagram for a uniprocessor system, assume that

there are always some processes 1n the ready state: Now consider the following

statements: : (g

Terminated

Which of the above statement(s) are TRUE? One or more choices may be true. Provide
explanation.



SECTION B

QQ.—The system generation (SYSGEN) process helps in configuring or generating system for
each computer. Desctibe various system generation approaches adopted by the system
administrators to generate systems according to the size and generality, and the ease of
modifying it as the hardware configuration changes? pl3]mazies
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Qg How many processes are generated by the following program codgg ‘fffi‘a h8 tree
showing the generation of parent-child processes. What is the output pmffﬁééd%? Briefly
explain your answer. ' o ¥ Bl

#include <stdio.h>
#include <unistd.h>

int main{)

{

fork();
fork{) && fork()|| fork();
fork{);

printf ("1\a");
return 0;
}

Qé Consider three processes, all arriving at time zero, with total execution time of 10, 20 and
30 units, respectively. Each process spends the first 20% of execution time doing /O, the
next 70% of time doing computation, and the last 10% of time doing IO again. The

operating system uses a shortest remaining compute time first scheduling algorithm and

schedules a new process either when the running process gets blocked on I/O or when the

running process finishes its compute burst. Assume that all T/O operations can be

overlapped as much as possible. For what percentage of time does the CPU remain idle?
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